
Homework due 11/22
Daniel Gameiro RUID : 195000275

Sec . 16.4

7) 611,41=16 , -15,3)
Tull , 4) = ( 2 , 1,3) Tull , 4) = ( 1 , -4,0)

N -

- Tux Tv = ( 12,3 , -9 )
tangent plane : 121×-6 ) -1314+151-912-31=0
13) ru= ( cosy sink 1) ru =L - usinv , neosho)

ds - lraxrvldudv -_ Ru

f.
"

s! u3Ru= I
15/15=1+02271 dxdz

sis?zi¥d×dz=37I - I
19) we can use cylindrical coordinates for this

f:/! e-2. rdzdrdo -_ 44 - LITE "
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.
16.5

5) 2=1-3×-14y

f ! f ! I- Y th - z . 4 + x) dx dy =

f! f! ( 3 y - 411-3×+49) t x) dx dy= - 4
7) 2 = X2-y2M

1 ! I!⇒%÷*r⇒t x ) dy dx = 2¥ -19
9) 2 = 9 - X

2
- y
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/! la -x - y2) 12×+2 y) t x ) dy dx = ¥
11) 2=1 - x- y

f ! ( 442- x) dy dx = Yz


